NMVaxi m ze[ {2000 x1 + 1000 x2,
{40 x1 +20x2 <280, 20x1 +50x2 <300, 2x1 <12, x1 =0, x2 >0}}, {x1, x2}]

(14000., {x1 56., X2 5 2.}

NMVaxi m ze[ {2000 x1 + 1000 x2,
{40 x1 +20x2 <280, 20x1 +50x2 <300, 2x1 <12, x1 20, x2>2}}, {x1, x2}]

(14000., (X1 6., X2 52. 1}

pl = Cont our Pl ot [2000 x1 + 1000 x2, {x1, 0, 15}, {x2, 0, 15},
Cont our Shadi ng - None, FraneLabel - Autonmatic, ContourlLabel s » Truel;
p2 = Cont our Pl ot [2000 x1 + 1000 x2 == 14000, {x1, 0, 15},
{x2, 0, 15}, ContourStyle » {Green, Thick}];
p3 = Cont our Pl ot [ {40 x1 + 20 x2 == 280, 20 x1 +50 x2 == 300, 2x1 = 12},
{x1, 0, 153}, {x2, 0, 15}, Contour Style -» {Red, Bl ue, Purple}l;
Show[

pl,
p2,
p3]
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